[#RX 2]

SMAEE ATFHIAIF—DER Hovh—8 [2] AOFEHEHE [FEE]
H | I |Z®BI1c0| FHFHAS SR BN RE EENGFR %=
1K O wmE g% ~17:30 R
2 | K O By MEE#~17:30 Bapk
3 | & X EREENELE SRMES
4| % O #mEHE R FR vs \R—sb/B BAK b
5|8 X REDH
6 | B O #E MEEHE~17:30 FR
7| X O BmE MER%~17:30 Bk xS
8 | %k O BmE ME%E~17:30 R
I I AFHHS
10| € O BE WER%E~17:80 L2 i EFRE
FRE - O BEHETFE F-girch RIE BERZESNH
121 8 X TR FMAMEREEEL 72 HREESL
13| A X TR FEAMEESEL £faBEEHS
14| w X | TR HARAEREEEL it I HE
15| K X TR FHIMEBESEL 1 2EMFES
16 | K X TR FEAREREEELL v
17{£| O RE MRE~17:45 FR ]
18] £ X
19| 8 O #wEHE 4-Rifcp FR vs OO®/BEE Y
20| A O wE MRE~17:45 =38 EMEES
21| & O wE MBHk~17:45 e
22 | K X BAHE
231 XK @) BRlhY v Hh— F-girch R KEHEH
24 | & O wE MEEH#~17:45 Fk
i 8 s o O U —ILhy T #A xE
26| B O |(Y¥l—NAvyT #8 xE
27| B X
28 | K O BwE MER%E~18:00 R LSS (RE)
X HFERSOKREZ(CHOVTIE. BEHETRELET,
EENH = | = wE 11 8
17 = g |[HEERAEE 3 [@
&R N X% 1 X R
11 A = |z 1 H 2
0,

MIRHEIZCF I vy

D [EEEniEs R > CalE L -,




